BN BARFEERR (L BIEE )
(RHMS5FE4H~TFI55F9AH) .
(BAfL; 45, FH. %)
BA S99\ =11 BALLE
HE | 2SR | B | 2SR | B3 | RASE | % | ZuesE
BEIE 1 139,634 1 50,270 2 189,904 50.0 73.5
A& 0 0 0 0 0 0 0 0
EREE 0 0 0 0 0 0 0 0
RIS 0 0 0 0 0 0 0 0
AT 0 0 0 0 0 0 0 0
wmEaYIL 0 0 0 0 0 0 0 0
T Ot 0 0 0 0 0 0 0 0
A= - Y )LINE 0 0 0 0 0 0 0 0
&t 1 139,634 1 50,270 2 189,904 50.0 735
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RN R AFTINR (B4 HisiE# - 35858 )

(470554 A ~$FSE9A) .
(BG4, FH. %)
"M Rt &t R
543 ZHEEE | B3 | RS | B8 | 2HNeE | B3 | Z2HeE
BEIE 0 0 0 0 0 0 0 0
A& 0 0 0 0 0 0 0 0
EREE 0 0 0 0 0 0 0 0
RIS 1 25 1 251 1000 100.0
AT 0 0 0 0 0 0 0 0
wmEaYIL 0 0 0 0 0 0 0 0
T Ot 2 17,996 0 0 2 17.996] 1000 100.0
AR -2V 3 18,021 0 0 3 18021l 1000 1000
&t 3 18,021 0 0 3 18,021 100.0 100.0




RN RBAFFTINR (B2 B SO sRER)

(FHI5FE4A~TM5E9A)
(B 14, FH. %)
2R LY)N A&t BALtbE
3 | YT | H8 | ZHEE | #% | ZHEE | 48 | ZYNEE
BETE 2 197,923 1 2,090 3 200,013 66.7 99.0
A= 0 0 0 0 0 0 0 0
SEEREA 4 18,128 4 18,128]  100.0 100.0
TRaAVHIL 0 0 0 0 0 0 0 0
HEAE 0 0 0 0 0 0 0 0
HEa I 0 0 0 0 0 0 0 0
TOth 1 2,420 0 0 1 2420] 1000 100.0
A= -2 )L 5 20,548 0 0 5 20,548]  100.0 100.0
= 7 218,471 1 2,090 8 220,561 87.5 99.1
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RR-BAGFETINE (B4 FEL-EAE)

(RHMS5FE4H~TFI55F9AH) .

(BAfL; 45, FH. %)

BN [C =1 BNt
HE | 2SR | B | 2SR | B3 | RASE | % | ZuesE
BEIE 0 0 0 0 0 0
A& 0 0 0 0 0 0
BREEERET 0 0 0 0 0 0
ARSI 0 0 0 0 0 0
AT 0 0 0 0 0 0
wmEaYIL 0 0 0 0 0 0
T Ot 0 1 5,797 1 5,797 0
A= - Y )LINE 0 ’ 5797 i 5797 0
&t 0 1 5,797 1 5,797 0
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R BRI FTIR (BB IRBATERE )

(HFSEAH~HHSEFA) .

(AL 4. FH. %)

BA R4t At BALbE
e | RS | HH | B | G4 | 2HeE | 4% | ZNEE
ERTE 0 0 0 o] 0 0 0 |
AR 0 0 0 0 0 0 0 0
ERBE 0 0 0 o] 0 0 0 |
ERIHL 0 0 0 o] 0 0 0 0
HHHAE 0 0 0 o] 0 0 0 )|
HmEaVYIL 0 0 0 ol 0 0 0 ol
Tt 7 399,355 0 ol 7 399,355]  100.0 100.0
RS- LING 7 399,355 0 ol 7 399,355]  100.0 100.0
&5t 7 399,355 0 ol 7 399,355 100.0 100.0]
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RN BRI FTINR (B2 RMOKESD)

(RM5F4A~FH5F9A)
(B4 4. FH. %)
RS o Bt RAHLE
HH | e | B8 | 2N | HH | 2UNEE | B8 | 2NeE
BETE 135 7,104,243 10| 1,275,055 145|  8379208] 931 84.8
AR 17 132,795 4 78,815 21 211610] 1.0 62.8
EREE i 317 0 0 i 317|  100.0 100.0
IARIHIN 44 276,348 12 232,500 56 508848  78.6 54.3
AT i 9,232 13 193,740 14 202,972 7.1 45
#WiEaz S 4 35,706 0 0 4 35706] 1000 1000
Tt 3 21,120 i 660 4 21.780] 750 97.0
AR -3 ILINE 70 475,518 30 505,715 100 981233] 700 485
&E 205| 7579761 a0 1780770)  245| 9360531 837 81.0
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RN B AFTINR (B4 R EZEER)

(FHI5FE4A~TM5E9A)

(BEAT; 4. FH. %)

214 125} &3t 804 b 5
B3 | RALE | B3 | 2O | G5 | ZHNe8E | #3 | 2NeE
BETE 354 28655438 13 712,668 367| 29,368,106 96.5 97.6
A& 62 345,862 4 66,968 66 412,830 93.9 83.8
AR 28 184,657 1 4,026 29 188,683 96.6 97.9
RIS 184 832,268 58] 1,426,621 242| 2,258,889 76.0 36.8
HHHAT 9 74,668 15 137,104 24 211,772 375 35.3
#WiEaz S 14 50,413 3 16,027 17 66,440 82.4 75.9
ot 259 2,197,017 1 9,372 260 2,206,389 99.6 99.6
AR -2 LN 556 3,684,885 82| 1,660,118 638 5,345,003 87.1 68.9
&t 910| 32,340,323 95| 2372786 1,005 34,713,109 90.5 93.2
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IR - B4 RIS ( HEFESE )
(471554 8 ~$F5F9A) )
(BG4, FH. %)
=P = ¥ R
543 ZHEEE | B3 | RS | B8 | 2HNeE | B3 | Z2HeE
BEIE 93 192,136 0 0 93 192.136] 1000 100.0
A& 0 0 0 0 0 0 0 0
EREE 0 0 0 0 0 0 0 0
RIS 0 0 0 0 0 0 0 0
AT 0 0 0 0 0 0 0 0
wmEaYIL 0 0 0 0 0 0 0 0
T Ot 23 39,330 6 1597 29 40,927 793 96.1
AR -3 ILINE 23 39,330 6 1597 29 40,927 79.3 96.1
&5t 116 231,466 6 1597 122 233,063 95.1 99.3
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RN R FEIR (8% BT AE)

(RM5F4A~FH5F9A)
(BEAT; 4. FH. %)
Y =5 a5t R
B | RPOEEE | B35 | ROEE | 4% | Z2NeE | 4% | ZNeE
EHIS 108 332,646 50 412,572 158 745218] 684 44.6
AE 0 0 0 0 0 0 0 0
ERE 0 0 0 0 0 0 0 0
EARILTIL 0 0 0 0 0 0 0 0
HHAE 0 0 0 0 0 0 0 0
HEaV YL 0 0 0 0 0 0 0 0
Tt 10 103,726 27 64,468 37 168.194] 270 61.7
A& -2z )L INEY 10 103,726 27 64,468 37 168,194]  27.0 61.7
A5t 118 436,372 77 477,040 195 913412] 605 4738




RN R RIFTIR (B8 X7 )

(FHSF4RA ~TH5F9R)
(B . FH. %)

BR B4 a&t B3R
B | ZREEE | B | 2O | H | 2HEE | 4% | ZveEs
=n
BETE 58| 2,989,566 28| 1,657,678 86| 4647044] 674 64.3
S
AR 1 14,623 0 0 i 14623] 1000 100.0
= IR
SEEREA 4 13,145 0 0 4 13,145]  100.0 100.0
IARIHIN 19 237,666 7 180,785 26 418,451 73.1 56.8
FE =[]
HEAE 2 9,295 2 11,616 4 20,911 50.0 445
HE L ) B d o ol o 0
%0)1‘”_1. 0 0 0 0 0 0 0 0
i g H
AR -2 LN 26 274,729 9 192,401 35 467,130] 743 58.8
&t 84| 3,264,295 37l 1850079 121  5114374] 694 63.8
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RN B A FETINE (8% mEEET)

(470544 A ~$T54E9 ) .
(B 14, FH. %)
RS o Bt RAHLE
B | ZREEE | B | 2O | H | 2HEE | 4% | ZveEs

ERTE 3 133,485 0 0 3 133.485]  100.0 100.0
=

/AIIE 0 0 0 0 0 0 0 0

ERBE 3 7,304 0 0 3 7304] 1000 100.0

TRaAVHIL 0 0 0 0 0 0 0 0

HERE . J . 0 0 0 0

W . i I Jd o | o 0

%0)1‘”_1. 0 0 0 0 0 0 0 0

AR -2 )L /NE 3 7,304 0 0 3 7304] 1000 100.0

&5t 6 140,789 0 0 6 140,789]  100.0 100.0
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